
Họ và Tên: Lời giảiPhép chia các phân số

Toán Học vn.CommonCoreSheets.com 4 1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Câu  trả  lờ i

1.
55⁄132= 5⁄12

2.
38⁄51

3. 123⁄62

4.
95⁄192

5. 125⁄26

6. 1
0⁄20= 1

7.
32⁄45

8. 13⁄192= 11⁄64

9. 12⁄3

10.
38⁄45

11.
36⁄55

12. 137⁄45

Giải các câu hỏi.

1) 11
3

:
44
5

=
55

132
11
3

×
5
44

=
55

132

2)
6 1

3
: 8 1

2
=

38
51

19
3

×
2

17
=

38
51

3)
8 1

2
:

31
5

=
85
62

17
2

×
5
31

=
85
62

4) 19
4

: 9 3
5

=
95
192

19
4

×
5
48

=
95
192

5) 17
2

: 4 1
3

=
51
26

17
2

×
3
13

=
51
26

6)
2 2

4
: 2 1

2
=

20
20

10
4

×
2
5

=
20
20

7) 8
3

:
15
4

=
32
45

8
3

×
4
15

=
32
45

8) 39
4

: 9 3
5

=
195
192

39
4

×
5
48

=
195
192

9) 1
3

:
1
5

=
5
3

1
3

×
5
1

=
5
3

10)
6 1

3
:

15
2

=
38
45

19
3

×
2
15

=
38
45

11)
3 3

5
:

11
2

=
36
55

18
5

×
2
11

=
36
55

12)
8 1

5
: 4 1

2
=

82
45

41
5

×
2
9

=
82
45



Họ và Tên: Lời giảiPhép chia các phân số

Toán Học vn.CommonCoreSheets.com 4

Câu  trả  lờ i

1.
55⁄132= 5⁄12

2.
38⁄51

3. 123⁄62

4.
95⁄192

5. 125⁄26

6. 1
0⁄20= 1

7.
32⁄45

8. 13⁄192= 11⁄64

9. 12⁄3

10.
38⁄45

11.
36⁄55

12. 137⁄45

Giải các câu hỏi.

1) 11
3

:
44
5

=
55

132
11
3

×
5
44

=
55

132

2)
6 1

3
: 8 1

2
=

38
51

19
3

×
2

17
=

38
51

3)
8 1

2
:

31
5

=
85
62

17
2

×
5
31

=
85
62

4) 19
4

: 9 3
5

=
95
192

19
4

×
5
48

=
95
192

5) 17
2

: 4 1
3

=
51
26

17
2

×
3
13

=
51
26

6)
2 2

4
: 2 1

2
=

20
20

10
4

×
2
5

=
20
20

7) 8
3

:
15
4

=
32
45

8
3

×
4
15

=
32
45

8) 39
4

: 9 3
5

=
195
192

39
4

×
5
48

=
195
192

9) 1
3

:
1
5

=
5
3

1
3

×
5
1

=
5
3

10)
6 1

3
:

15
2

=
38
45

19
3

×
2
15

=
38
45

11)
3 3

5
:

11
2

=
36
55

18
5

×
2
11

=
36
55

12)
8 1

5
: 4 1

2
=

82
45

41
5

×
2
9

=
82
45

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0


